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   NPS Learning in Place 

   Pre-algebra 6/7 and Math 8 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Week 1 
April 6-10 

Week 2 
April 20-24 

 

 Change in attributes 

 3D Views 

 Spiral Review 1 

 Spiral Review 2 

 Day 1 Composite Figures 

 Composite Figures Day 2 
– Day 5 
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Changing Attributes  

1. Original  
 
 
 
 
 
 
 

Find the Volume 
 
V = lwh 
 
L = 11,  w = 5,  h = 6 
 
V = (11)(5)(6) 
V = 330 cm3 

Scale factor: 
 
Length  2 
 
(Multiply the 
length only by 2) 

New Volume: 
 
V = lwh 
 
L = 22,  w = 5,  h = 6 
 
V = (22)(5)(6) 
V = 660 cm3 

Scale factor: 
 
 
Length  3 
(from original) 
 
(Multiply the 
length only by 3) 

New Volume: 
 
V = lwh 
 
L = 33,  w = 5,  h = 6 
 
V = (33)(5)(6) 
V = 990 cm3 

Describe change:  
 
 

2. Origininal 
 
 
 
 
 
 
 
 

Find the Volume Scale factor: 
 
 
Width  2 
 
(Multiply the 
width only by 2) 

New Volume: Scale factor: 
 
Height  2 
(from original) 
 
(Multiply the 
height only by 2) 

New Volume: 
 
 
 
 
 

Describe change: 
 
 

3. Original 
 
 
 
 
 
 
 
 

Find the Volume Scale factor: 
 
 

Length  
𝟏

𝟐
 

 
(Multiply the 

length only by 
𝟏

𝟐
) 

New Volume: Scale factor: 
 
Height  4 
(from previous 
change) 
 
(Multiply the 
height only by 4) 

New Volume: 

Describe change: 
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Changing Attributes  
 
 
 
 
 
 
 
 

Find the Surface Area: 
 
SA = 2lw + 2lh + 2wh 

Scale factor: 
 
 
Width  4 
 
(Multiply the 
width only by 4) 

New Surface Area: Scale factor: 
 
 
Length  3 
(from original) 
 
(Multiply the 
length only by 3) 

New Surface Area: 

Describe change: 
 
 

 
 
 
 
 
 
 
 

Find the Surface Area: Scale factor: 
 
 

Height  
𝟏

𝟒
 

 
(Multiply the 

height only by 
𝟏

𝟒
) 

New Surface Area: Scale factor: 
 
Height  3 
(from previous 
change) 
 
(Multiply the 
height only by 3) 

 

New Surface Area: 
 
 
 

 

Describe change: 
 
 

 
Change the attribute and record the new volume and surface area. 

# W L H Volume S. Area Change the 
Attribute 

New Vol New SA 

1 1 2 3   Double h 
(multiply h by 2) 

  

2 2 2 2   Square w 
(multiply w by itself) 

  

3 8 6 10   Divide h by 2   

4 5 4 8   Times L by 3   

5 3 3 6   Divide h in half   

Answer the questions below on a separate sheet of paper 

a) Look at #1 and compare the new volume to the old 
volume. What changes do you see? 

b) Look at #2 and compare the new volume to the old 
volume. What changes do you see? 

c) Look at #3 and compare the new volume to the old 
volume. What changes do you see? 

d) Look at #4 and compare the new volume to the old 
volume. What changes do you see? 

e) Look at #5 and compare the new volume to the old 
volume. What changes do you see? 

f) What can we conclude about how the volume will 
change when an attribute change 

g) Compare the surface areas. Is there a patter 
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3D-Views 

Draw the front, top and side view of the figures below 

Figure 1 

 

Front View 
 

  

  

 
 

Top View 
 

  

  

 
 
 

Side View 
 

  

  

 

Figure 2 

 

Front View Top View 
 

Side View 

Figure 3 

 
 

Front View Top View 
 

Side View 

Figure 4 

 
 

Front View Top View 
 

Side View 
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3D-Views 
Draw the front, top and side view of the figures below 

1 

Figure 5 

 

Front View 
 
 

Top View 
 
 
 
 

Side View 
 
 

Figure 6 

 
 

Front View Top View 
 

Side View 

Figure 7 

 

Front View Top View 
 

Side View 

Figure 8 
 

 

Front View Top View 
 

Side View 
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Spiral Review 1: Show your work/Explain your answers!! 
1. Which of the following is equivalent to 16? 
 

A. √324     B. √289        C. √256     D. √196      

2. Which of the following numbers is NOT a perfect 
square? 
 
A. 121      B. 144        C. 200        D. 225      

3. In the diagram of the cabinet door, the measure of 

∠2 = 84°.  What is the measure of ∠4? 

 
A. 6° 

B. 76° 

C. 84° 

D. 96° 

4. Which of the following could be the measurement of 

two supplementary angles? 

 

𝐴. 7° 𝑎𝑛𝑑 83°                      𝐵. 83° 𝑎𝑛𝑑 83° 

 

𝐶. 97° 𝑎𝑛𝑑 83°                    𝐷. 117° 𝑎𝑛𝑑 83° 

 

5. Which of these best describes the relationship of the 
data shown on this scatterplot? 
 
A. Constant relationship          
 
B. Negative relationship        
 
C. Positive relationship 
 
D. No relationship 

6. Which of these best describes the relationship of the 
data shown on this scatterplot? 
 
A. Constant relationship          
 
B. Negative relationship        
 
C. Positive relationship 
 
D. No relationship 

7. Given the relation {(5, 7), (6, 8), (0, 2), (9, 11)}, what is 
the domain of the relation? 
 

A. {5, 7, 6, 8} 

B. {5, 6, 0, 9} 

C. {0, 2, 9, 11} 

D. {0, 3, 9, 11} 

 

8. What is the range of the relation represented in the 
coordinate plane below? 
 
A.{-3, -1, 1, 2} 
 
B. {(-3,2)(-1,-1)(1, -2)(2,3)} 
 
C. {-2, -1, 2, 3} 
 
D. {(2, -3)(-1,-1)(-2,1)(3,2)} 
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9. Which of the following is equivalent to 19? 
 

A. √38     B. √76        C. √324     D. √361      

 

10. Which of the following is equivalent to the square 
root of 144? 

A. 12         B. 72            C. 144         D. 288      

11. L measures 38.    What is the measure of the 

complement to L? 

 

A. 38 

B. 52 

C. 122 

D. 142 

 

12. Look at the angles. 

 
Identify each angle that is adjacent to Angle 2. 

 
 

 
13. Which scatterplot shows data with a positive 
relationship? 
 

 
 

14. A study was conducted to determine the effects of 
sleep deprivation on a student’s ability to solve simple 
math problems.  Which graph shows a line of best fit? 
 

 

15. The formula shows that the total cost of buying pizzas 
(c) at Domino’s depends on the number of pizzas (p) 
ordered plus a $2 delivery charge. 
 

C = 9p + 2   
What is the independent variable in the formula? 

 
A. p 

B. c 

C. 2 

D. 9 

16. Teresa has a $50 coupon for an auto service. The 
price is usually $65 an hour. The equation shows the 
relationship between the T dollars she pays for the 
service and the number of hours of service (h). 

65h – 50 = T 
What does the dependent variable represent? 
 
A. The number of hours of service   
                       
B. The cost without the coupon 
 
C. The $65 hourly cost 
 
D. The total cost 
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Spiral Review 2: Show your work/Explain your answers!! 
1. Which pair of numbers are both between 3 and 4? 
 

A. √11  𝑎𝑛𝑑 √15 

B √9  𝑎𝑛𝑑 √16 

C. √10  𝑎𝑛𝑑 √17  

D.√15  𝑎𝑛𝑑 √20      

2. Which statement best describes √98 
 
A. 𝐸𝑥𝑎𝑐𝑡𝑙𝑦 10 
 
B.𝐸𝑥𝑎𝑡𝑙𝑦 49        
 
C. 𝐵𝑒𝑡𝑤𝑒𝑒𝑛 9 𝑎𝑛𝑑 10         
  
D. 𝐵𝑒𝑡𝑤𝑒𝑒𝑛 48 𝑎𝑛𝑑 50    
 

3. Identify each integer 4. Which number in this list is NOT irrational? 
 

                          π,  √361, √2, √120 
 

A. π             B.     √361         C. √2              D. √120 

5. . Decide whether the events are independent or 
dependent 
 
“A student spins a spinner and rolls a number cube” 

3. Decide whether the events are independent or 
dependent 
 
“A student picks a raffle ticket from a box and then picks 
the second raffle ticket without replacing the first raffle 
ticket” 
 

7. Which linear equation represents the graph below? 
                             
A. 𝑦 =  −

3

4
x - 8 

           

B. 𝑦 =  8 −
3

4
x  

            

C. 𝑦 =  −
2

3
x + 8 

             

D. 𝑦 =  8 −
4

3
x  

 

8. Which graph below represents this equation? 
 

x – 1 = y 
 

 
 
 
 
 

 
Independent Events 

Dependent Events 

 

 
Independent Events 

Dependent Events 

 
√64 0.2 

−
1

4
 

-15 90

18
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9. Where would 10  be located on the number line 

below? 
 
 
 
 
 
A          B.   B            C.  C            D.   D 

10. The square root of 55 is between which two 
consecutive whole numbers? 
 

A 4 and 5 

B 5 and 6 

C 6 and 7 

D 7 and 8 
 

11. Which number is an irrational number 
 
A. 3.14      
                        

B. √8 
 

C. −√4     
                           
 D. -5 

12. Place √256 in all of the subsets that it belongs to 

 
13. . Decide whether the events are independent or 
dependent 
 
“Flipping a tail ona coin and spinning a 5 on a spinner 
with sections of equal size numbered 1-5” 

14. . Decide whether the events are independent or 
dependent 
 
“Selecting a dime first and then without replacing the 
dime, choosing a penny from a box containing a penny, 
a nickel and a dime ” 

15. Which table of data best represents the points on the 
line? 

 
 

 

16. .  How much does Jacob save per month? 
 

 
 
A. 25             B. 50                  C. 75                 D. 100 

 
 

0 1 2 3 4 

A B C D 

 
Independent Events 

Dependent Events 

 

 
Independent Events 

Dependent Events 
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Area and Perimeter of Composite Figures Day 1 
Notes 

When finding the area of a composite figure…… 
Step1: Divide the figure into familiar shapes- rectangles, squares, triangles, circles, semicircles, trapezoids 
Step 2: Find the area of the individual figures- Use the Formula Sheet 
Step 3: Add all of the areas together 

 
Shape Figure 1: Figure 2: Total Area Perimeter: Distance around 

the shape 

1. 

 

 

 

 

 

 
A = 18 + 6 
A = 24 cm2 

 

 
  
P= 3 + 4 + 3 + 2 + 6 + 6 
P = 24 cm 

2. 

 

    

3. 

 

    

A = lw 

L = 3 

W = 6 

A= (3)(6) 

A = 18 cm2 

A = lw 

L = 3 

W = 2 

A= (3)(2) 

A = 6 cm2 
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Find the Area and Perimeter of the figures below (you must show your work) Day 1 
Figure  Show work for total  Area and Perimeter 

4. 

 

 

5. 

 

 

6.  

 
 

 

7. 
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Area and Perimeter of Composite Figures Day 2 
Notes 

When finding the area and perimeter of a composite figure…… 
Step1: Divide the figure into familiar shapes- rectangles, squares, triangles, circles, semicircles, trapezoids 
Step 2: Fill in the missing numbers 
Step 2: Find the area of the individual figures- Use the Formula Sheet 
Step 3: Add all of the areas together 
Shape Figure 1: Figure 2: Total Area Perimeter: find the missing sides 

1. 

 

 

 

 

 

 
 
 
 

A = 16 + 16 
A = 32 cm2 

 
 
 

 

 

 
 
P = 2 + 6 + 2 + 8 + 2 + 8 
P = 28 cm 

2. 

 

 
 
 

 
 
 

 
 
 
 
 

 
 
 
 

 
 

   
 
 
 
 
 
 

 

A = lw 

L = 2 

W = 8 

A= (2)(8) 

A = 16 cm2 

A = lw 

L = 2 

W = 8 

A= (2)(8) 

A = 16 cm2 
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Find the Area and Perimeter of the figures below (you must show your work) Day 2 
Figure  Show work for total Area and Perimeter 

4. 

 

 

5. 

 
 

 

6.  

 
 

 

7. 
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Area and Perimeter of Composite Figures Day 3 
Notes 

When finding the area and perimeter of a composite figure…… 
Step1: Divide the figure into familiar shapes- rectangles, squares, triangles, circles, semicircles, trapezoids 
Step 2: Fill in the missing numbers 
Step 2: Find the area of the individual figures- Use the Formula Sheet 
Step 3: Add all of the areas together 
Shape Figure 1: Figure 2: Total Area Perimeter: find the missing sides 

1. 

 

 

 

 
 
 
 

A = 
𝟏

𝟐
𝒃𝒉     b = 7,   h = 5 

 

A = 
𝟏

𝟐
(𝟕)(𝟓)      

A = 17.5 units2 

 

 
 
 
 

A = 24 + 17.5 
 

A = 41.5 units2 

 
 
 

 

 

 

 
P = 6.1 + 6.1 + 2 + 8 + 3 + 8 + 2 
P = 35. 2 units 

 

A = lw 

L = 3 

W = 8 

A= (3)(8) 

A = 24 unit2 



 

   17 

 
Find the Area and Perimeter of the figures below (you must show your work) Day 3 

Figure  Show work for total Area and Perimeter 

2. 

 

 

3. 

 
 

 

4.  
 

 

 

5. 
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Area and Perimeter of Composite Figures Day 4 

Notes 

When finding the area and perimeter of a composite figure…… 
Step1: Divide the figure into familiar shapes- rectangles, squares, triangles, circles, semicircles, trapezoids 
Step 2: Fill in the missing numbers 
Step 2: Find the area of the individual figures- Use the Formula Sheet 
Step 3: Add all of the areas together 
Shape Figure 1: Figure 2: Total Area Perimeter: find the missing sides 

1. 

 

 

 
 
A = lw         l = 12        w = 5 
A = (12)(5) 
A = 60 units2 

    
                           
                            
                             
 

A = 
𝜋𝑟2

2
 

A = 
(3.14)(1.5)(1.5)

2
 

  
A = 3.53 units2 

 

 
 
 

A = 60 + 3.53 
 

A = 63.53 units2 

 
 
 

  
P = 5 + 12 + 5 + 6 + 4.71 
P = 32.71 units 
 

2. 

 

 
 
 

 
 
 

 
 
 
 
 

 
 
 
 

Half of a 

circle 

d = 3  

r = (3) ÷ 2 

r = 1.5 
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Find the Area and Perimeter of the figures below (you must show your work) Day 4 
Figure  Show work for  total Area and Perimeter (use 3.14 for 𝝅) 

4. 

 

 

5. 

 
 

 

6.  

 
 

 

7. 
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Area and Perimeter of the Shaded Region Day 5 
Notes 

When finding the area and perimeter of a composite figure…… 
Step1: Divide the figure into familiar shapes- rectangles, squares, triangles, circles, semicircles, trapezoids 
Step 2: Fill in the missing numbers 
Step 2: Find the area of the entire region and the unshaded region 
Step 3: Subtract the area of unshaded regions from the area of the entire region  
Shape Figure 1: Figure 2: Total Area Perimeter: find the missing sides 

1. 

 

 
 
A = lw        l = 20     w = 12 

 
A = (20)(12) 
A = 240 in2 

    
                           

A = 
𝟏

𝟐
𝒃𝒉;  b = 4,   h = 6 

 

A = 
𝟏

𝟐
(𝟒)(𝟔) 

 
A = 12 in2          

 
 
 

A = 240 - 12 
 

A = 228 in2 

 
 
 

 

 
 

 
P = 12 + 20 + 12 + 8 + 6.3 +6.3 + 8  
P = 72.6 in 

2. 
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Find the Area and Perimeter of the shaded region (you must show your work) Day 5 
Figure  Show work for  total Area and Perimeter of the shaded region (use 3.14 for 𝝅) 

4.  

 
 

 

5. 

 
 

 

6.  

 
 

 

7. 
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DAY 5-Calculating Area: Yeny received these plans of a property she just bought. Help her answer some 
questions. Each square is 1 square meter. 

 
1. What is the area of the house?  
 
2. What is the area of the pond? 
 
 3. What is the total area of the gardens?  
 
4. What is the area of the driveway?  
 
5. Yeny wants to make her garage larger. She needs one that is 22m2 . How much larger does she need to make the new 
garage?  
 
6. Draw on the plans to show where her new garage might best fit.  
 
7. Yeny wants room to plant vegetables. Design a garden space for the front of Yeny’s house. It must have a total area of 
11m2 . Yeny is not sure if she would like one large garden, or a couple of smaller ones. 


